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ut the most basic of all equations are those
known as linear equations. You need to
 in the beginning portions of Algebra IL.
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Wherelltlhleeam many new equation solving techniques in Algebra IL,b

have ood \fflarlable, 52y X, is only raised to the first power. These are

e g uency with solving these equations in order to be successfu
€t's start with some practice.

EXxercise#1: Solve each of the following linear equations for the value of x. ( M X

(@) 3x+5=26 (b) 8x—T=4%-5
7 ‘5 '61 @ _,{y,,;-y{(y +7
= %X’a =
35 f2 As]
2 x+8 . L
(© -2—=—6 (d) @)—{6{_—\1)=2x+20
X+9~-12 i,i_yus}-g__).(-i—_gn?x*é?o
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It is important to understand that each step in solving one of these equations can be justified by either using one
of the properties of real numbers (from the last lesson) or a property of equality (such as the additive or

multiplicative properties).

Exercise #2: Justify each step in solving 2(x+7)+4x=44 using either a property of real numbers
(commutative, associative, or distributive) or a property of equality (additive or multiplicative)

A N0
2(x+7)+4x=44
2x+14+4x=44

Dishn huehve_~

2x+4x+14=44 C» mpauFaiv-e~
x(2+4)+14=44 Disin hunpive—~
6x+14=44
6x+14-14=44-14 Additve
6x=30
. ebhiphicstive
x=5
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Strang.e things Can sometimes happen when solving linear (and other) equations. Sometimes we get no Soluti‘ons
?t all,'m Whlcl_l case the equation is known as inconsistent. Other times, any value of x will solve the equation,
In which case it is known as an identity.

gxelrc:iSe #3: Try to solve the following equation. State whether the equation is an identity or inconsistent.
xplain,

6X‘2’(<":4)=3’(1)?2)+X—5 B{LMG-C"M"‘ rewd wetion is
Uy-2y=8=3y+b+x-g £ lse (-8 docs oot cguaf 1) 5
yy—g=dx+l o 1§ [numsisterd:
-3y Y Phe et
3 -7l

EXxercise #4: An identity is an equation that is true for all values of the substitution variable. Trying to solve
them can lead to confusing situations. Consider the equation:

2x-6+x-1=3(x-3)+2
(a) Test the values of =5 and x=3 in this equation. Show that they are both solutions.
O 25)-L+5-1-3(c3)+2 @ a(3)-U+3-1 =3(3-3)+2
0 -2 =3(2)+2 . bW-L+3-] =3(c)+ 2

§=0+2 . A=0+2
8:—'2\/ 0,2=2\/

(b) Attempt to solve the equation until you are sure this is an identity.

, ~ %
"2—)'('- -_(f +—-¥-—;-I =3(x-3)+2 Same on bop— sidas.
Zy.~F=3X-F+2 o dantity

32X f}-\/

Exercise #5: Which of the following eq‘uations are identities, which are inconsistent, and which are neither?

@ 8x-23) =5(x-)rx -~ ® 4X2+2+8=2X+9
gy Sk sogen [

_U=WbX-5
-/(‘:/L\b "2‘% 2X+9Q=2x+1
(©) 2x+8—(x-7)=2(2x-3) (d) 2x+14+2(x-1) = 16,:—4
N +§-X+F=H4yv-L 3X- 21
+16=4HX~ #
- +L - %
1 I1, UNIT #1 - Ess A _
@ COMMON CORE:I\I/iiiEﬁSTRUEEON, RED IFIILT(;:N\I(J(:F;:];‘:%OZNU?;PTS LESsoN #2 @
_ - e e B _

Scanned with CamScanner



